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Ex 1: When putting a voltage U on both ends of a resistor R, the current flowing through it is at the intensity of I. Write the system of Ohm's law.
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Ex 2: Write the equivalent resistance formula of a circuit consisting of two resistors connected in parallel?
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Ex 3: A cylindrical aluminum conductor, with a length of 6,28m, a section diameter of 2mm, a resistivity of 2,8.10-8  Ωm, what is the resistance of the wire?
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Ex 4: Two aluminum wires of the same cross section have resistances of 5Ω and 6Ω, respectively. The first wire is 15m long. How long is the second wire?
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Ex 5: When placing the 4,5V voltage at one end of a conductor, current passing through this wire is 0,3A. If this voltage is increased for 3V more then the current through the wire is how much strength?
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Ex 6: For the circuit as shown, R1 = 6Ω, R2 = 4Ω, R3 = 12Ω, UAB=18V.  

The current flowing in the main circuit is
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Ex 7: An electric cooker when operating normally has a resistance R = 80Ω and the current through the kitchen when it is I = 2,5A. Calculates the heat that the stove generates in a second.

Ex 8: The primary and secondary windings of a transformer are 1500 turns and 150 turns respectively. Connect the two poles of the 12V battery to the two primary windings, what is the voltage between the two secondary windings?

Ex 9: The drawing side has a needle magnet in the wrong direction, which is the magnet needle?

Ex 10 : Three resistors 
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 withstand the most intense current are  , 
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. What is the maximum voltage that can be placed on two ends of a circuit consisting of three resistors connected in series?

Ex 11:  A family using a 220V-1000W electric cooker is used at 220V to boil 2,5 liters of water at an initial temperature of 20o C , which takes 15 minutes.

a. What heat needs to be supplied to boil water? Know the water vibration of the water is

c = 4200J / kg.K.

b. The performance of the kitchen.

c. Each family boils 5 liters of water with the above conditions. How much does the family have to pay for electricity? Knowing 1KW.h is priced at 1400 VND.
                                                Solution:
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[image: image4.wmf]U

R

            
Ex 2:      Rtđ =  
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Ex 3:     R = 5,6.10–2 Ω.             
Ex 4:     
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Ex 5:     I = 0,5 A
Ex 6:     
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Ex 7:      Q = 500 J
Ex 8:      0V
Ex 9:    needle magnet 4

Ex 10 :  44  V
Ex 11 : 

Solution:

a. The heat required to boil water is:
    Qi = m.c.(t2 – t1) = 2,5.4200.80 = 840 000 (J) 

b. The heat that the kitchen emits in 15 minutes is:

            Q = A = P.t = 1000. 15.60 = 900 000 (J)

    The performance of the kitchen is;

          H = Q1/Q .100%=  93,3%                               

c. The energy consumed by the kitchen to boil 5 liters of water for 30 days is:

      A = P.t = 1000.15 .2.30 .60 = 15 KW.h

       Electricity charge: T = 1400.15 = 21 000 VND
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